
 
Model Paper Mathematics Paper – IX  

ٳہ લ د䮨۔1    ǘɟدا 㑔اب واᣅ ✔ ف✜ ،䞀 㐖 䥞ٳے د ǘɟر داᨴ 䁠⁩ ㈉ ال␰ ٳ Ǐɝ۔  
 2 ⚿ 〨 ٳوں ǘɟ۔دا)䗂લ ( ⵇ  ǔ˟ ا⃵ل ⸗䮨۔ 㩕ر⸗ǎ˄ 䖤 㦆 ㈉ٱ 㩔ⵇ ر  

ٳے ᣅ ╌ 䗂લاب ⨾ ሊر ㈊䜫۔3     ǘɟدا 䯏زا ╌  ǎا׏ 䆀 ابᣅ۔  
    
Time Allowed: 20 Minutes  SECTION – A Marks : 15 

  

1 
The matrix 1 0

0 1
is a…….. matrix. 

 
Column  

 
Diagonal  

 

Identity matrix 
w.r.t addition 

 
Row 

 ǎ۔ ۔۔۔۔۔ا׏䞈  ǌѬⰔ 1 0
0 1

  ǌѬⰔ 㣚ⵇ ٳى ǖɟو ᒖذا ஗➳ رىⲆ 
          

2 
The multiplicative inverse of 2 is 
…….  3   2  

1
2

  1  
 ⵇ஗➳ 䞈س ۔۔۔۔۔۔۔㷸۔ " 2 "  

          

3 
If log2 8 = x, then x = ………… 

 2  8  3  
None of these 

۔۔۔۔۔۔㈊䜫۔   = x   Ꮰ log2 8 = x,  䯆ا 䔽 䤈〨 䆀 ان 
          

4 
Characteristic of log 235 is ……. 

Ὗ ⵇ❽۔۔۔۔۔۔䞈۔   2  2-  1  3  log 235 
          

5 a2 – b2 = ……………  (a + b)2  ab  (a – b) (a + b)   (a – b)2 
          

6 Factors of x2 – 3x + 2 are ……… 
 (x – 1) ( x – 2)  x2 – 1   (x – 1)2  (x – 1)(x + 2)  ஗➳ 䥞ٳاǔ ǌاؼ ㈉ 䞀۔  ۔۔۔۔۔۔ x2 – 3x + 2 

          

7 (a + b)2  –  (a – b) 2 = …………..  2a2 + 2b2  4ab  a4 – 2ab + b4  a2 – b2 
 
          

8 
LCM of (a – b) 2 and (a – b)3 is ……..  

Ⲹذوا➷ف اⵇ 䞈۔۔۔۔۔ (a – b)3 اور (a – b)2  a2 – b2   (a – b)4  (a – b)3  (a – b)2 
 
          

9 
x  4 means ………… 

 x  4 or x =4  x  4 or x =4  x  4  x = 4    ۔ ۔۔۔۔۔䞈 㶱 ⵇ x  4 
 
          

10 
The point (-1, - 2) is located in ……. 

 
Quadrant-I  

 
Quadrant-II 

 
Quadrant-III 

 
Quadrant-IV 

 䏮)2 - ،1 -( رࡑ 䌭〨䞈 Ⲛوا 䆀؟  㱇 ᒒᱴࡑ ᒯے 㱇ࡑ دو⇤ے 㱇ࡑ 㱇 ຝࡑ 
 
          

11 
Diagonal of square are ……… 

 
None equal  

 
Equal  

 
Parallel  

 
None of these 

 ㈉ ࡑ㱇  ۔䞀 ᓧ䜫ٳ ǖɟ۔۔۔۔۔۔ و  ان 㫱 䔽 䤈〨 䆀ازى 㱉وى ⪋ 㱉وى 
          

12 
Sum of angles of a triangle is …….. 

 90  120  180  360 㭯 ⵇ ں䮩زاو ㈉ 㬹⧌ ۔䞈 ٱ ǖ˄ 䜫 ۔۔۔۔۔  
          

13 
In right angle triangle one angle is 
…………..  70  180  90  170 

ٱ 䞈۔ ǖ˄ 䜫 䮪زاو  ǎا׏ 䆀 㬹 䮪او㘯ٱ ا ǖ ǘɤⰔ۔۔۔۔۔  
          

14 
Sides of triangle are …….. 

۔۔۔۔㈉ 㬹 ا⟌ع 䞀 ᓧ䜫۔  5  2  3  4   
          

15 
Mid point of (2,4), (6,2) is ……. 

 (4,3)  (4,4)  (4,6)  
None of these 

ⵇ و∠ 䏮 ۔۔۔۔۔۔䞈۔ ) 6،2(اور ) 2،4(  䔽 䤈〨 䆀 ان 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


